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NMDCAT REPEATERS

TEST # 31
BIOLOGY
grnes da not obiey Menilel™s aw of ndepenident anoriment:

A) Armosomul ) Joanigeing
Bj S O Lanked
Crenes (or enlour blladses, haemophills, gout ele. form one Unkage group on human:
A) XY chromioomies C) Y clwonmiom
B) XX clromosomes D) X chyomosome:
The eniire groome of has been succensfully sequenced a1 part of human penome
project:
A) Fears C)Fig
B) Drozopdid o D) Grazsfrapper

T he proportion of recombinant bypes between two grne palrs as compared lo the sem of all
combinations called:

A) Crossng oves ) Recombination frapesncy
B) Symopas ! D) Linkage Foquency
11 produces procilc variallons among afTspring and provide raw materbal lor evolullon:
A) Croszme over ) Revombumton
B) Symapas D) Gene linkag=
Which of the fallowing trall |s not X-llnked?
A) Colowz blinwtneis . ) Gongt
B) Hasmopluhs D) Leukrmia
"% apr ol patienin I-I“l-‘l'l‘l'll from hacmaphiila due ta factor :
Al Xl Cy 20, X1
By &0, Vil D) LIX
In drowphils males are anthey carry Jusd one allele on thelr only x-chromosons:
A) Homnwryeonn C) Heterporymom
B) Hamzyvgous ; D) Semirvpous
A trall that iv determined by an X-linked recessive pene Iv called:
A XY -lmkied recessve trmi C) Y-hnked recesave tan
B X-hnkad revssave man ) D) X-linkexl 1sessave nan
The ____ together two penes are on 3 chromosome, the less Hkely thelr alldeswill be
-pmlrd by __ .1
A) Lak Emmng onel . C) Apant, Crossing ovel
B} Antach, Crosang over D) Close, Crossms over
Plck ap the very severe form of luemophlils:
Al A c)c
B)R DD
it la a phvubeal relatbonahip between penee
A) Crosung over ) Revornburmtion
B Symopas D) Gene linkag=

11 12 serdoas disease of human In w hich Blooad fallx clof afier starts Mlewing from an Injury
i

A) Color Hindness ) Drabetes
B) Hasmoplalia D) Vitiaman O pesistand noksts
T be allele for koemophilia A and B are located on the:
A} Yechoomonal C) Atosonul eleormosonmes
B) X=chromosomes D) Sex claomosoms
. resilis in a shifing of peoetlc meiterk]l and an Important cow of
respeciively:
A) Lmingzz, Evelntiion C) Linkap=, (emestie vamation
B) Evidution, Crosang over D) Criossine: over, Genetic vanation
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Provophila bs perfectly miled [or:
A) Metabalic stahes () Cultire studies
B CGenztie shali=s D) Beluwioimal stahes
T he cronsover data may also be umd o determine:
A) The locaton of gene on cluomosome C) The location of gene inmd s
B) The location of elaomoomes m nucl s D) The locanon of g=ne m el
Plek up allefic receadve 1y pe of bemophillas In males
Al H=moploha A C}) Hemoptaha ©
B} Hzmoplalia B D) Hemoplulia [
previded experimentul evldence In mupport of chromaesemal (heery of heredlly

throush discovery of sex linkage ln frull fly Deoropfelfo:

A) Independent assonment C) Crozanes over

B Gee= hindage 0 Thopmez Hould Movgan
Which one of the following can pever paxs direct from father to wn?

A) Hemoplnhs - A and © C) Hemoplnlis - C and D

B) H=moplalia - B and C ) Hemophilia —A and B
Crowine ;mver v an exchanee of sepmenis between during meclosle
A} Suster clromatils of homolopos eloomesome

B) Monemiler eotomsre of homelogons clueonimiome

C) Non-malet clzomands of non-homolog ous cluomesome

D) Morsist=r chyomatihs of himsol ogons cluomoson e

Pick op the odd pair:

A) Homopluha - I, Facior IN ) Hemoplulia = A, Factor V1IN
B) H=moplalia — . Facler X1 D) Hemoplulia - B, Factos X1
If 2 carrler haenmephilic female (XNHXY) l: ‘married to a haemephilic male (X¥Y). What will

be the ratin of presence of harmophllia In the children? Select bed anower from ghen
condition: -
XWX XY

A 100# s all Fmmad=s and males will be hemophilic

B) Normal fomlz 250, hemophilic Fanale 25%, 25% nomml male and 25% hemoplulic male
) Fommales and males bolh Lave 25% and 7596 chnness of p=tung hemoplulia

) Femal=s bave 80%s chances of getting hemoplhalia and nal=s will be |00% hemoplilic
The number of linkage groups In an Indivhiual correspand to the number of:

AJ Horodogots pam s of clymunsoimes C) Cliroviosoies i each cell
B) Gemems on cluomosome D) Chromosomes i body
I not praciically possdbile In humane
A) Experinsntal nonng C) Smidy of inhentanes
B Podhres amlyss D) Cbweading
Each type of hemephills Invalves dellclency ol:
A) Same clottioe facior C) Two clottus Bt
B) Dhif=rent doting faclons 0y All clotting (actors
Dot of the hemophillac patienty, how many sulTer from type = A:
A) 0%, ) I
Bj)8re D) 30"
Plck mp the one that afTects more 1o men 28 compared lo women:
A) Hemoplehs Asnd C C) Hemoplelis A and B
P ) Hzmoplalia B aul C D) Hetoplulia C and D
It bever pames direct by from Eatlier (o son:
A) Homonlikia — C C) Thtonopia
B Bl blimaboess D) Hemwplalia- A
Hemaophilia A and B abways paso frome
A) Fathsr Io =m C) Matzm| grardGihey te grandson
B) Father 1o davghitzr D} Palerral gramslfather to prandson
Sex linkage In Drosoplkila wat discovered by:
EAR C) Menul=l
B) Watson D) Morgan
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Q.12 A carrier woman can kave 3 hemophilize =on 7 sorried fo:

A) A ol men
B A hemoplulise man
C) Either 2 normal o a hemoptaliac man -
) Extlest a hempogdnhac o1 & camer man
013  Plck up the den denoting carrier daughier:

Fl

—

o o )
7 N\
B) % D) [M_-J_J

Q.M  Plck up the antagenlalc palr:
A M=oms - crosang ove
B ) Crosangs ovix - recominmation
) Recombunation — vanstion 4
D) G Biibcirge — Indepenident nsso timenl _
Q.35 A lermole can be hemophillac, I her parenishave hllnwln 4
ey

APNIRY N XMy (o) B 4
By X" x Nty D}\":-:" X X"y
Q.36 Hemuphilla Is3; :
Al X — brkad dosnasant tragt L O)X= hlﬁ:s:\!. tec=suive tral
B} Y = Linksd domanant trml oy DY - lnked recesove bl
.37 Mimor cuts or brulwes oy resull In death ofa prruon when hefche sl Ters from:
A Hypoplwsplatsa - C) Hemoplelia
B Frotanomn D) Immmvmed = oy
3.3 The perorntipe of hemophllilacs lll‘l'irlrlni'm ype=Hix
A) 0%, C) 20%
B) B = ) 30%.
Q.39 Jud one recewdve allcle will |Ih'||h;r the tralt of In pmn:
Aj Homopleba — A and © ) Hemoplelia — C amd totancma
B Hamoplalia - R and © _ D) Femoplilis - A ad B
Q.40 A hemophillye man recelves X chromosome Indirecily from hic
A) Father's fatlesr C) Grandiather's fatlzer
B Motler s fathis _ ' D) Grancmother"s fathies
Q41  Quern Vidorin®s hemophlllae son was prince:
A) Prmee Michalag ; C) Rupert
B Leopold D) Charl=s
Q.41 Alode of Inheritance of human Iﬂ"l can be iraced throush:
A) Expenmstdal matirge ) Inbgeading
B} Pedistes D) Ot byl
Q.43 Teswlculsr leminlzation Is an mmpln aof:
A) Nebmbed denunant trait C) Antosomal indentancs
B} Y- hned domomant trat D) X-hinked roes=nve trmt

Q.44 Strength of peoe nkapre Is Imversely proportion fo the following, EXCETT:
Al Draance botween goie log
B) Frobability of @ossimg over
) Probaladity of mdeperul=n assortmenl
) Probatlity of redesmeee parantol tmits

Q.45 Morgan and his colieapoes studied more than trali In Dresophile
“A) 83 )20
B) &0 Dy
Q.46 Plck up The mond common iype of havmophllla:
AJA cic
B)R on
Q47 Which ope of the lolloning alss called reyal diwawe?
A) Diabetes C) Colonr blmadress
B Hypophosphatenm D) Hazmophilia
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48

Q.49

Q.50

tralis Inherit 2y dpzg from maiernal grandfather through a carrler daughiter 1o
a grandmon:
A) X-ludied ) Anlosormal
B) Y-hnkad D) Sex mfluenced
Linksge group of X-chromosome I

A Codon Windiiess, Isdkenua and allamuan

) Hactooplulin, ackle cell anemia nnd albimam
C) Croned, a)lmrusrn apwl Ievkisima

D) Coloy blindiess, haemoplubia and gow

reduces the clances of respectively: ;
A1 Clossmg over, Recombnmation ) Crossing over, Recomination
1) Linkage, Meioas D) Crousing over, Gene linkape
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